		Annex I [footnoteRef:1] [1:  Question (a) = Do you think this indicator is relevant to measure overall progress of the goal?
Question (b) = Do you think this indicator is relevant for global reporting and for enhancing standardization and comparability in national reporting? 
] 

	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	

	

	
	

	

	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	

	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	

	

	
	

	
	



A.0.4

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.30508474576271188	0.29870129870129869	0.31168831168831168	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.3728813559322034	0.18181818181818182	0.14285714285714285	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.20338983050847459	0.20338983050847459	0.14285714285714285	0.14285714285714285	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	0.11864406779661017	0.37662337662337664	0.40259740259740262	



A.0.5

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.20338983050847459	0.16883116883116883	0.14285714285714285	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.47457627118644069	0.42372881355932202	0.29870129870129869	0.24675324675324675	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.22033898305084745	9.0909090909090912E-2	0.1038961038961039	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	0.15254237288135594	0.44155844155844154	0.50649350649350644	



B.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.2711864406779661	0.1038961038961039	9.0909090909090912E-2	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.23728813559322035	0.2857142857142857	0.25974025974025972	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.44067796610169491	0.3728813559322034	0.20779220779220781	0.18181818181818182	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	0.11864406779661017	0.40259740259740262	0.46753246753246752	



B.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.23728813559322035	0.18181818181818182	0.14285714285714285	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.3559322033898305	0.20779220779220781	0.19480519480519481	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.2711864406779661	0.18181818181818182	0.16883116883116883	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.13559322033898305	0.42857142857142855	0.4935064935064935	



C.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.23728813559322035	0.1038961038961039	0.12987012987012986	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.23728813559322035	0.24675324675324675	0.19480519480519481	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.40677966101694918	0.20779220779220781	0.20779220779220781	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	0.11864406779661017	0.44155844155844154	0.46753246753246752	



C.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.3559322033898305	0.20779220779220781	0.19480519480519481	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.23728813559322035	0.15584415584415584	0.12987012987012986	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.28813559322033899	0.25423728813559321	0.19480519480519481	0.20779220779220781	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	0.15254237288135594	0.44155844155844154	0.46753246753246752	



D.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.28813559322033899	0.23376623376623376	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.32203389830508472	0.23376623376623376	0.18181818181818182	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.2711864406779661	5.1948051948051951E-2	3.896103896103896E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.11864406779661017	0.48051948051948051	0.54545454545454541	



D.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.23728813559322035	0.40677966101694918	0.27272727272727271	0.22077922077922077	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.5423728813559322	0.33898305084745761	0.33766233766233766	0.25974025974025972	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.13559322033898305	0.11864406779661017	3.896103896103896E-2	3.896103896103896E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.13559322033898305	0.35064935064935066	0.48051948051948051	



1.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.40677966101694918	0.16883116883116883	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3728813559322034	0.3559322033898305	0.4935064935064935	0.31168831168831168	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.16949152542372881	7.792207792207792E-2	6.4935064935064929E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	6.7796610169491525E-2	0.25974025974025972	0.38961038961038963	



2.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.52542372881355937	0.23376623376623376	0.24675324675324675	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.49152542372881358	0.25423728813559321	0.53246753246753242	0.38961038961038963	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.13559322033898305	0.15254237288135594	6.4935064935064929E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	3.3898305084745763E-2	6.7796610169491525E-2	0.16883116883116883	0.31168831168831168	



2.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.23728813559322035	0.23728813559322035	0.25974025974025972	0.24675324675324675	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.30508474576271188	0.18181818181818182	0.18181818181818182	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.33898305084745761	0.19480519480519481	0.15584415584415584	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	0.11864406779661017	0.36363636363636365	0.41558441558441561	



3.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.33898305084745761	0.24675324675324675	0.20779220779220781	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.25423728813559321	0.27272727272727271	0.23376623376623376	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.25423728813559321	0.14285714285714285	0.11688311688311688	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	0.15254237288135594	0.33766233766233766	0.44155844155844154	



3.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.32203389830508472	0.24675324675324675	0.29870129870129869	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.44067796610169491	0.32203389830508472	0.2857142857142857	0.18181818181818182	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.1864406779661017	0.13559322033898305	3.896103896103896E-2	3.896103896103896E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	0.22033898305084745	0.42857142857142855	0.48051948051948051	



4.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.3559322033898305	0.20779220779220781	0.20779220779220781	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.49152542372881358	0.22033898305084745	0.37662337662337664	0.29870129870129869	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.20338983050847459	0.1864406779661017	0.1038961038961039	9.0909090909090912E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	0.23728813559322035	0.31168831168831168	0.40259740259740262	



4.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.40677966101694918	0.40677966101694918	0.31168831168831168	0.27272727272727271	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.44067796610169491	0.33898305084745761	0.15584415584415584	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	5.0847457627118647E-2	9.0909090909090912E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.20338983050847459	0.44155844155844154	0.50649350649350644	



5.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.2711864406779661	0.29870129870129869	0.33766233766233766	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.42372881355932202	0.3728813559322034	0.20779220779220781	0.1038961038961039	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.15254237288135594	0.1864406779661017	5.1948051948051951E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.10169491525423729	0.16949152542372881	0.44155844155844154	0.50649350649350644	



5.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.20338983050847459	0.22077922077922077	0.25974025974025972	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.40677966101694918	0.3728813559322034	0.22077922077922077	0.11688311688311688	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.23728813559322035	6.4935064935064929E-2	6.4935064935064929E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.1864406779661017	0.4935064935064935	0.55844155844155841	



6.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.42372881355932202	0.38983050847457629	0.24675324675324675	0.22077922077922077	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.23728813559322035	0.25974025974025972	0.22077922077922077	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.16949152542372881	0.15254237288135594	3.896103896103896E-2	3.896103896103896E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.22033898305084745	0.45454545454545453	0.51948051948051943	



6.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.25423728813559321	0.36363636363636365	0.29870129870129869	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.2711864406779661	0.12987012987012986	0.12987012987012986	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.25423728813559321	2.5974025974025976E-2	2.5974025974025976E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.22033898305084745	0.48051948051948051	0.54545454545454541	



6.0.3

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.42372881355932202	0.40677966101694918	0.24675324675324675	0.19480519480519481	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.2711864406779661	0.22077922077922077	0.20779220779220781	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.15254237288135594	0.15254237288135594	5.1948051948051951E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.16949152542372881	0.48051948051948051	0.54545454545454541	



6.0.4

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.38983050847457629	0.2857142857142857	0.25974025974025972	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.1864406779661017	0.14285714285714285	0.11688311688311688	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.1864406779661017	0.1864406779661017	6.4935064935064929E-2	6.4935064935064929E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.23728813559322035	0.50649350649350644	0.55844155844155841	



7.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.1864406779661017	0.25423728813559321	0.14285714285714285	0.12987012987012986	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.2711864406779661	0.25974025974025972	0.18181818181818182	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.32203389830508472	0.16883116883116883	0.16883116883116883	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.13559322033898305	0.15254237288135594	0.42857142857142855	0.51948051948051943	



8.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.2711864406779661	0.15584415584415584	0.15584415584415584	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.15254237288135594	0.23376623376623376	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.3559322033898305	0.25974025974025972	0.23376623376623376	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	0.22033898305084745	0.35064935064935066	0.44155844155844154	



8.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.23728813559322035	0.23728813559322035	9.0909090909090912E-2	0.15584415584415584	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.20338983050847459	0.16949152542372881	0.19480519480519481	7.792207792207792E-2	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.44067796610169491	0.4576271186440678	0.2857142857142857	0.27272727272727271	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.11864406779661017	0.13559322033898305	0.42857142857142855	0.4935064935064935	



9.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.40677966101694918	0.19480519480519481	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.40677966101694918	0.25423728813559321	0.38961038961038963	0.24675324675324675	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.1864406779661017	0.16949152542372881	3.896103896103896E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	0.16949152542372881	0.37662337662337664	0.46753246753246752	



10.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.33898305084745761	0.23376623376623376	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.16949152542372881	0.11688311688311688	9.0909090909090912E-2	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.32203389830508472	0.14285714285714285	0.12987012987012986	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.16949152542372881	0.50649350649350644	0.54545454545454541	



10.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.32203389830508472	0.29870129870129869	0.29870129870129869	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.44067796610169491	0.23728813559322035	0.18181818181818182	0.1038961038961039	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.1864406779661017	3.896103896103896E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.25423728813559321	0.48051948051948051	0.54545454545454541	



11.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3559322033898305	0.3559322033898305	0.25974025974025972	0.27272727272727271	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.22033898305084745	0.15584415584415584	0.11688311688311688	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.16949152542372881	3.896103896103896E-2	3.896103896103896E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.11864406779661017	0.25423728813559321	0.54545454545454541	0.5714285714285714	



12.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.23728813559322035	0.23728813559322035	0.16883116883116883	0.27272727272727271	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.23728813559322035	0.24675324675324675	9.0909090909090912E-2	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.28813559322033899	9.0909090909090912E-2	0.1038961038961039	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.15254237288135594	0.23728813559322035	0.4935064935064935	0.53246753246753242	



12.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.38983050847457629	0.23376623376623376	0.25974025974025972	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.23728813559322035	0.18181818181818182	0.1038961038961039	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.16949152542372881	0.1864406779661017	0.11688311688311688	0.14285714285714285	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.10169491525423729	0.1864406779661017	0.46753246753246752	0.4935064935064935	



12.0.3

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.33898305084745761	0.19480519480519481	0.20779220779220781	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3728813559322034	0.28813559322033899	0.23376623376623376	0.20779220779220781	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.15254237288135594	0.16949152542372881	6.4935064935064929E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.20338983050847459	0.50649350649350644	0.53246753246753242	



13.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.28813559322033899	0.3559322033898305	0.24675324675324675	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.4576271186440678	0.30508474576271188	0.23376623376623376	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.16949152542372881	0.15254237288135594	9.0909090909090912E-2	9.0909090909090912E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.1864406779661017	0.42857142857142855	0.50649350649350644	



13.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.50847457627118642	0.49152542372881358	0.33766233766233766	0.2857142857142857	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.20338983050847459	0.16883116883116883	0.14285714285714285	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	6.7796610169491525E-2	5.1948051948051951E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.16949152542372881	0.23728813559322035	0.44155844155844154	0.51948051948051943	



14.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.22033898305084745	0.22077922077922077	0.22077922077922077	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.13559322033898305	0.20779220779220781	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.4576271186440678	0.33898305084745761	7.792207792207792E-2	6.4935064935064929E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.10169491525423729	0.30508474576271188	0.4935064935064935	0.54545454545454541	



14.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.28813559322033899	0.25423728813559321	0.15584415584415584	0.19480519480519481	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.23728813559322035	0.23376623376623376	0.11688311688311688	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.1864406779661017	0.1864406779661017	0.15584415584415584	0.12987012987012986	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.1864406779661017	0.32203389830508472	0.45454545454545453	0.55844155844155841	



15.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.28813559322033899	0.28813559322033899	0.24675324675324675	0.2857142857142857	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.23728813559322035	0.25974025974025972	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.2711864406779661	0.22033898305084745	7.792207792207792E-2	7.792207792207792E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.13559322033898305	0.25423728813559321	0.41558441558441561	0.46753246753246752	



16.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3728813559322034	0.3728813559322034	0.22077922077922077	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.40677966101694918	0.28813559322033899	0.22077922077922077	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.11864406779661017	0.13559322033898305	2.5974025974025976E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.10169491525423729	0.20338983050847459	0.53246753246753242	0.54545454545454541	



17.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.28813559322033899	0.33898305084745761	0.25974025974025972	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.44067796610169491	0.32203389830508472	0.23376623376623376	0.15584415584415584	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.15254237288135594	0.13559322033898305	5.1948051948051951E-2	6.4935064935064929E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.11864406779661017	0.20338983050847459	0.45454545454545453	0.54545454545454541	



17.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.28813559322033899	0.25423728813559321	0.31168831168831168	0.31168831168831168	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.4576271186440678	0.33898305084745761	0.19480519480519481	0.12987012987012986	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.16949152542372881	0.20338983050847459	3.896103896103896E-2	3.896103896103896E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.20338983050847459	0.45454545454545453	0.51948051948051943	



18.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.40677966101694918	0.47457627118644069	0.27272727272727271	0.31168831168831168	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.23728813559322035	0.2857142857142857	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	8.4745762711864403E-2	2.5974025974025976E-2	2.5974025974025976E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.11864406779661017	0.20338983050847459	0.41558441558441561	0.4935064935064935	



19.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.23728813559322035	0.23728813559322035	0.22077922077922077	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.25423728813559321	0.25974025974025972	0.16883116883116883	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.25423728813559321	0.22033898305084745	9.0909090909090912E-2	6.4935064935064929E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.1864406779661017	0.28813559322033899	0.42857142857142855	0.53246753246753242	



19.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.38983050847457629	0.19480519480519481	0.23376623376623376	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.22033898305084745	0.31168831168831168	0.19480519480519481	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.1864406779661017	7.792207792207792E-2	7.792207792207792E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.20338983050847459	0.41558441558441561	0.4935064935064935	



20.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3728813559322034	0.3559322033898305	0.23376623376623376	0.22077922077922077	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.28813559322033899	0.27272727272727271	0.20779220779220781	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.20338983050847459	0.15254237288135594	6.4935064935064929E-2	5.1948051948051951E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.10169491525423729	0.20338983050847459	0.42857142857142855	0.51948051948051943	



20.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.32203389830508472	0.32203389830508472	0.31168831168831168	0.29870129870129869	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.22033898305084745	0.10169491525423729	0.16883116883116883	5.1948051948051951E-2	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.30508474576271188	0.32203389830508472	6.4935064935064929E-2	6.4935064935064929E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.15254237288135594	0.25423728813559321	0.45454545454545453	0.58441558441558439	



20.0.3

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.38983050847457629	0.42372881355932202	0.22077922077922077	0.27272727272727271	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.42372881355932202	0.20338983050847459	0.29870129870129869	0.19480519480519481	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	8.4745762711864403E-2	0.10169491525423729	2.5974025974025976E-2	2.5974025974025976E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.10169491525423729	0.2711864406779661	0.45454545454545453	0.50649350649350644	



A.0.1

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.28813559322033899	0.33898305084745761	0.16883116883116883	0.22077922077922077	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.6271186440677966	0.5423728813559322	0.53246753246753242	0.40259740259740262	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	6.7796610169491525E-2	8.4745762711864403E-2	2.5974025974025976E-2	2.5974025974025976E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	1.6949152542372881E-2	3.3898305084745763E-2	0.27272727272727271	0.35064935064935066	



A.0.2

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.3728813559322034	0.23728813559322035	0.40259740259740262	0.37662337662337664	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.44067796610169491	0.4576271186440678	0.16883116883116883	0.18181818181818182	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.13559322033898305	0.16949152542372881	9.0909090909090912E-2	7.792207792207792E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	0.13559322033898305	0.33766233766233766	0.36363636363636365	



A.0.3

Yes	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.55932203389830504	0.44067796610169491	0.41558441558441561	0.41558441558441561	Yes with work	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	0.33898305084745761	0.40677966101694918	0.25974025974025972	0.23376623376623376	No	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	5.0847457627118647E-2	1.2987012987012988E-2	1.2987012987012988E-2	Omitted	Party	Party	Observers	Observers	Question (a)	Question (b)	Question (a)	Question (b)	5.0847457627118647E-2	0.10169491525423729	0.31168831168831168	0.33766233766233766	



2

